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1. In which section there is a provision of

Illegal Lock-out ? :

(A) Section-24

(B) Section-25

(C) Section-23

(D) Section-22

2. Hariprasad Shiv Shankar Shukla Vs A.D.

Diwakar, AIR 1957 S.C. Case related to :

(A) Definition of Industrial Dispute

(B) Constitution of Trade Union

(C) Lay-off and retrenchment

(D) None of these

3. Industrial Disputes (Amendment) Act 1953,

when came in force ?

(A) 23 October, 1953

(B) 23 November, 1953

(C) 23 December, 1953

(D) 24 January, 1954

4. Which sections are added by Industrial

Disputes (Amendment) Act 1953 :

(A) Section-23 ‘A’ to 23 ‘J’

(B) Sectio-25 ‘A’ to 25 ‘J’

(C) Sectio-17 ‘A’ to 17 ‘D’

(D) Sectio-22 ‘A’ to 22 ‘D’

5. Which is defined in Sec-25 ‘B’ of Industrial

Dispute Act :

(A) Continuous service

(B) Strike

(C) Lay-off

(D) None of these

1. voS/k dkj[kkuk canh dk çko/kku fdl /kkjk esa

gS \

(A) /kkjk&24

(B) /kkjk&25

(C) /kkjk&23

(D) /kkjk&22

2. gfjçlkn f'ko 'kadj 'kqDy cuke ,-Mh- fnokdj]
,-vkb-vkj- 1957, mPpre U;k;ky; okn
lEcfU/kr gS %
(A) vkS|ksfxd fookn dh ifjHkk"kk
(B) O;kolkf;d la?k ds xBu ls
(C) tcjh Nqêh vkSj NaVuh

(D) buesa ls dksbZ ugha

3. vkS|ksfxd fookn ¼la'kks/ku½ vf/kfu;e 1953

dc ls ykxw gS \

(A) 23 vDVwcj] 1953

(B) 23 uoEcj] 1953

(C) 23 fnlEcj] 1953

(D) 24 tuojh] 1954

4. vkS|ksfxd fookn ¼la'kks/ku½ vf/kfu;e] 1953

}kjk dkSu&lh /kkjk,a tksM+h x;h gSa \

(A) /kkjk&23 ‘A’ ls 23 ‘J’

(B) /kkjk&25 ‘A’ ls 25 ‘J’

(C) /kkjk&17 ‘A’ ls 17 ‘D’

(D) /kkjk&22 ‘A’ ls 22 ‘D’

5. vkS|ksfxd fookn vf/kfu;e dh /kkjk&25 ‘B’

es ifjHkkf"kr gS %

(A) fujUrj lsok

(B) gM+rky

(C) tcjh Nqêh

(D) buesa ls dksbZ ugha
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6. To whom will request the draft of the standing
Order in the Industrial Employment (Standing
Order) Act, 1946 ?

(A) To Appropriate Government

(B) To Trade Union

(C) To Attesting officer

(D) All of the above
7. Within how many days an appeal should be

made against the order of the certifying
officer in the Industrial Employment
(Standing Order) Act, 1946 ?

(A) 90 Days

(B) 60 Days

(C) 45 Days

(D) 30 Days

8. Interpretation of any question regarding
standing order in Industrial Employment
(Standing Order) Act, 1946 will be made
by :

(A) Labour Court

(B) Certifying officer

(C) High Court

(D) Appropriate Government

9. In which section of the Industrial Employment
(Standing Order) Act 1946 there is a
provision for keeping a register of standing
order ?

(A) Section-7

(B) Section-6

(C) Section-8

(D) Section-10

10. Who will trial of any offence in Industrial
Employment (Standing Order) Act, 1946 ?

(A) Metropolitan Magistrate

(B) First Class Judicial Magistrate

(C) Both (A) and (B)

(D) High Court

6. vkS|ksfxd fu;kstu ¼LFkk;h vkns'k½ vf/kfu;e]
1946 esa LFkk;h vkns'kksa ds çk:i dk fuosnu
fdlls fd;k tk;sxk \
(A) leqfpr ljdkj ls
(B) O;olk; la?k ls
(C) çek.kdrkZ vkWfQlj ls
(D) mijksDr esa ls lHkh

7. vk S|k s fxd fu;k stu ¼LFkk;h vkn s 'k ½
vf/kfu;e]1946 esa çek.kdÙkkZ vf/kdkjh ds
vkns'k ds fo#) vihy fdrus fnuksa ds vanj
fd;k tkuk pkfg, \
(A) 90 fnu
(B) 60 fnu
(C) 45 fnu
(D) 30 fnu

8. vk S|k s fxd fu;k stu ¼LFkk;h vkn s 'k ½
vf/kfu;e]1946 esa LFkk;h vkns'k ds ckjs esa
fdlh ç'u dk fuoZpu fdlds }kjk fd;k
tk,xk \
(A) Je U;k;ky;
(B) çek.kdrkZ vf/kdkjh
(C) mPp U;k;ky;
(D) leqfpr ljdkj

9. vk S|k s fxd fu;k stu ¼LFkk;h vkn s 'k ½
vf/kfu;e]1946 esa LFkk;h vkns'kksa dk jftLVj
j[kus dk çko/kku fdl /kkjk esas gS \

(A)  /kkjk&7

(B) /kkjk&6

(C) /kkjk&8

(D) /kkjk&10
10. vkS|ksfxd fu;kstu ¼LFkk;h vkns'k½ vf/kfu;e]

1946 esa fdlh vijk/k dk fopkj.k fd;k
tk,xk %
(A) egkuxj eftLVªsV }kjk
(B) çFke oxZ U;kf;d eftLVªsV }kjk
(C) nksuksa (A) ,oa (B)

(D) mPp U;k;ky; }kjk
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11. Conciliation officer has duty under Industrial

Disputes Act :

(A) Only discretionary

(B) Only mandatory

(C) Both discretionary and mandatory

(D) None of these

12. The conciliation officer shall take the

settlement proceedings, where :

(A) Exits Industrial dispute

(B) Industrial disputes are probable to

arise

(C) In above both situations

(D) None of these

13. The duties of Labour Board are in which

section of Industrial Disputes Act ?

(A) Section-13

(B) Section-12

(C) Section-14

(D) Section-15

14. Who publishes the award in Industrial

Disputes Act ?

(A) Court

(B) Board

(C) Appropriate Government

(D) Local Authority

15. Within how many days from the date of

receipt of the  report or award, it should be

published ?

(A) 60 days

(B) 30 days

(C) 90 days

(D) 120 days

[P.T.O]

11. vkS|ksfxd fookn vf/kfu;e esa le>kSrk

vf/kdkjh dk dÙkZO; gS %

(A) dsoy foosdkRed

(B) dsoy lekns'kkRed

(C) nksuks foosdkRed ,oa lekns'kkRed

(D) buesa ls dksbZ ugha

12. le>kSrk vf/kdkjh] le>kSrk dkjZokbZ djsxk]

tgk¡ %

(A) vkS|ksfxd fookn vfLrRo eas gS

(B) vkS|ksfxd fookn mRiUu gksus dh

laHkkouk gS

(C) mijksDr nksuksa ifjfLFkfr;ksa esa

(D) buesa ls dksbZ ugha

13. vkS|ksfxd fookn vf/kfu;e esa Je cksMZ ds

drZO; fdl /kkjk eas gaS \

(A) /kkjk&13

(B) /kkjk&12

(C) /kkjk&14

(D) /kkjk&15

14. vkS|ksfxd fookn vf/kfu;e esa iapkVksa dk

çdk'ku dkSu djrk gS \

(A) U;k;ky;

(B) cksMZ

(C) leqfpr ljdkj

(D) LFkkuh; çkf/kdkjh

15. çfrosnu ;k iapkV çkIr gksus ds fdrus fnuksa

ds Hkhrj çdk'ku gksuk pkfg, \

(A) 60 fnu

(B) 30 fnu

(C) 90 fnu

(D) 120 fnu
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16. What is the power of a Labour Court, While
settling industrial disputes ?

(A) Tribunal

(B) Civil Court

(C) Criminal Court

(D) All of the above
17. What is the penalty of Illegal strike in

Industrial Dispute Act ?
(A) Imprisonment up to one months
(B) Imprisonment up to two months
(C) Imprisonment up to 15 days
(D) Imprisonment up to 6 months

18. What is punishment for illegal lock-out under
Industrial Disputes Act ?
(A) Imprisonment up to two months
(B) Imprisonment up to one month
(C) Imprisonment up to 15 days
(D) None of the above

19. Under which Section of Industrial Disputes
Act is the penalty for disclosing confidential
information ?
(A) Section-31
(B) Section-29
(C) Section-30
(D) Section-30 ‘A’

20. The power of cognizance of any offence
under Industrial Disputes Act :
(A) First Class Judicial Magistrate
(B) Second Class Judicial Magistrate
(C) Executive Magistrate
(D) Tribunal

21. The period of implementation of settlement
and award in the Industrial Disputes Act,
where the date of implementation is fixed,
is assumed to be :
(A) any days
(B) Consent has been given by the

parties bound to the dispute
(C) First document produced by the

parties

(D) All of the above

16. vkS|ksfxd fookn fuiVkrs le; ,d Je
U;k;ky; dk s dk Su&lh 'k fDr çk Ir
gks tkrh gS \
(A) vf/kdj.k dh
(B) flfoy U;k;ky; dh
(C) vkijkf/kd U;k;ky;
(D) mijksDr lHkh

17. vkS|ksfxd fookn vf/kfu;e esa voS/k gM+rky
ds fy, D;k 'kkfLr;k¡ gS \
(A) ,d ekl dk dkjkokl
(B) nks ekl rd dk dkjkokl
(C) 15 fnol rd dk dkjkokl
(D) Ng ekl rd dk dkjkokl

18. vkS|ksfxd fookn vf/kfu;e eas voS/k dkj[kkuk
canh ds fy, n.M gS \
(A) nks ekl rd dk dkjkokl
(B) ,d ekl dk dkjkokl
(C) 15 fnol rd dk dkjkokl
(D) mijksDr esa ls dksbZ ugha

19. vkS|ksfxd fookn vf/kfu;e esa xksiuh; tkudkjh
çdV djus gsrq n.M fdl /kkjk esa gS \
(A) /kkjk&31

(B) /kkjk&29

(C) /kkjk&30

(D) /kkjk&30 A

20. vkS|ksfxd fookn vf/kfu;e esa fdlh vijk/k
dk laKku ysus dh 'kfDr gS %
(A) çFke oxZ U;kf;d eftLVªsV dks
(B) f}rh; oxZ U;kf;d eftLVªsV dks
(C) dk;Zikyd eftLVªsV dks
(D) vf/kdj.k dks

21. vkS|ksfxd fookn vf/kfu;e esa le>kSrk vkSj
iapkV ds dk;kZUo;u dh vof/k] tgk¡ dk;kZUo;u
dh rkjh[k fu;r gS] ekuk tk,xk %

(A) fdlh Hkh fnu ls

(B) fookn ls vkc) i{kdkjksa }kjk lgefr
nh xbZ gS

(C) i{kdkjksa }kjk çFke çLrqr vfHkys[k

(D) mijksDr lHkh
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22. What penalty will one get, if he closes the

enterprise without following the prescribed

procedure for closing ?

(A) Imprisonment for six months

(B) Imprisonment for one month

(C) Imprisonment for two months

(D) Imprisonment for four months

23. Essential Service includes :

(A) Telephone Service

(B) Airline Service

(C) Banking Service

(D) All of the above

24. What is the penalty for illegal strike under

the Essential Services Maintenance Act,

1981 ?

(A) Imprisonment for six months

(B) Imprisonment for four months

(C) Imprisonment for two months

(D) None of these

25. Under which section of the Essential

Services Maintenance Act, 1981, there is a

provision for Punishment for abetment of

illegal strike ?

(A) Section-8

(B) Section-6

(C) Section-9

(D) Section-4

26. Any offense under the Essential Services

Maintenance Act,1981 will be trial as :

(A) Session Trial

(B) Summon Trial

(C) Warrant Trial

(D) Summary Trial

[P.T.O]

22. ;fn dksbZ miØe cUn djus gsrq fuf'pr
çfØ;k dks viuk;s fcuk gh miØe can
djrk gSa rks mls D;k 'kkfLr feysxh \
(A) N% ekg rd dkjkokl
(B) ,d ekg rd dkjkokl
(C) nks ekg rd dkjkokl
(D) pkj ekg rd dkjkokl

23. ^vko';d lsok* esa 'kkfey gS %
(A) VsyhQksu lsok
(B) foeku ds lapkyu
(C) cSfdax lsok
(D) mijksDr esa ls lHkh

24. vko';d lsok j[kj[kko vf/kfu;e] 1981 ds
varxZr voS/k gM+rky ds fy, D;k n.M gS \

(A) Ng ekg dk dkjkokl

(B) pkj ekg dk dkjkokl

(C) nks ekg dk dkjkokl

(D) buesa ls dksbZ ugha
25. vko';d lsok j[kj[kko vf/kfu;e dh fdl

/kkjk esa voS/k gM+rky djus ds fy, mdlkus
gsrq n.M dk çko/kku gS \

(A)  /kkjk&8

(B) /kkjk&6

(C) /kkjk&9

(D) /kkjk&4

26. vko';d lsok j[kj[kko vf/kfu;e] 1981 eas
fdlh vijk/k dk fopkj.k gksxk %
(A) ls'ku fopkj.k
(B) leu fopkj.k

(C) okj.V fopkj.k

(D) laf{kIr fopkj.k
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27. Bombay State Vs. Hospital Mazadur Sabha,

AIR 1960, SC, is related to :
(A) Strike
(B) Hospitals have been considered an

industry
(C) Lock-out
(D) None of these

28. Which is the main point of ‘TripleTest’ ?
(A) Systematic conduct of activities
(B) The work should be done with the

cooperation of the employer and
the employees

(C) The work should be related to the
production and distribution of goals

(D) All of the above
29. There is a provision for dissolution of Trade

Union under Trade Union Act, 1926 in :

(A) Section-26

(B) Section-30

(C) Section-27

(D) Section-28
30. In the Industrial Disputes Act, has the power

to issue writs of Certiorari against the
decision of the Tribunal to the Supreme
Court. In which case did the Supreme Court
say this ?
(A) H.B. Kamath
(B) E.P. Royappa
(C) Kameshwar Singh
(D) None of the above

31. In which Section of Industrial Disputes Act

provide the general prohibition of Strike and

Lock-out ?

(A) Section-24

(B) Section-23

(C) Section-25

(D) Section-21

27. cEcbZ jkT; cuke gkfLiVy etnwj lHkk]
,-vkbZ-vkj- 1960 ,l-lh-] lEcfU/kr gS %
(A) gM+rky ls
(B) vLirky dks m|ksx ekuk x;k gS] ls
(C) dkj[kkuk canh ls
(D) buesa ls dksbZ ugha

28. f=&ijh{k.k dk eq[; fcUnq dkSu&lk gS \
(A) dk;Z&dyki dk lqO;ofLFkr lapkyu
(B) dk;Z fu;kstd ,oa deZpkfj;ksa ds

lg;ksx ls gksuk pkfg,
(C) dk;Z] eky ds mRiknu vkSj forj.k

ls lEcfU/kr gksuk pkfg,
(D) mijksDr esa ls lHkh

29. O;olk; la?k vf/kfu;e] 1926 esa fdl /kkjk
es O;olk; la?k fo?kVu dk mica/k gS \
(A) /kkjk&26

(B) /kkjk&30

(C) /kkjk&27

(D) /kkjk&28

30. vkS|ksfxd fookn vf/kfu;e esa vf/kdj.k ds
fu.kZ; ds fo:) mPp U;k;ky; dks mRçs"k.k
fjV tkjh djus dh 'kfDr gS] ;g ckr mPpre
U;k;ky; us fdl okn esa dgk \
(A) ,p-ch- dkeFk okn esa
(B) bZ-ih- jks;Iik okn esa
(C) dkes'oj flag okn esa
(D) mijksDr esa ls dksbZ ugha

31. vkS|ksfxd fookn vf/kfu;e esa gM+rky vkSj
dkj[kkuk canh ij lk/kkj.k çfr"kss/k fdl
/kkjk es micaf/kr gS \

(A) /kkjk&24

(B) /kkjk&23

(C) /kkjk&25

(D) /kkjk&21
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32. Any offence under the Essential Services

Maintenance Act, 1981 will be trial by :

(A) Second Class Magistrate

(B) Executive Magistrate

(C) First Class Magistrate

(D) Labour Court

33. Police can arrest under the Essential

Services Maintenance Act, 1981 by :

(A) Only Warrant

(B) Only Summons

(C) Without warrant

(D) None of the above

34. Under which section of the Essential

Services Maintenance Act, 1981 punishment

is given for financial assistance to illegal

strike ?

(A) Section-7

(B) Section-9

(C) Section-6

(D) Section-13

35. Under the Industrial Employment (Standing

Order) Act 1946, who comes in the certifying

officer ?

(A) Labour Commissioner

(B) General Court

(C) Labour Court

(D) None of these

36. How many copies will request the draft of

the standing order in the Industrial

Employment (Standing Order) Act, 1946 ?

(A) Ten Copies

(B) Five Copies

(C) Three Copies

(D) Six Copies

32. vko';d lsok j[kj[kko vf/kfu;e] 1981 ds

rgr fdlh ekeys dk fopkj.k fd;k tk,xk %

(A) f}rh; oxZ eftLVªsV }kjk

(B) dk;Zikyd eftLVªsV }kjk

(C) çFke oxZ eftLVªsV }kjk

(D) Je U;k;ky; }kjk

33. vko';d lsok j[kj[kko vf/kfu;e 1981 ds
varxZr iqfyl fxj¶rkj dj ldrh gS %
(A) dsoy okj.V }kjk
(B) dsoy leu }kjk
(C) fcuk okjaV }kjk
(D) mijksDr esa ls dksbZ ugha

34. vko';d lsok j[kj[kko vf/kfu;e] 1981 esa
voS/k gM+rky dks vkfFkZd lgk;rk nsus ij
fdl /kkjk ds varxZr n.M gS \

(A)  /kkjk&7

(B) /kkjk&9

(C) /kkjk&6

(D) /kkjk&13

35. vkS|ksfxd fu;kstu ¼LFkk;h vkns'k½ vf/kfu;e]
1946 esa çek.kdrkZ vkWfQlj esa dkSu gS \

(A) Je vk;qDr

(B) lkekU; U;k;ky;

(C) Je U;k;ky;

(D) buesa ls dksbZ ugha
36. vkS|ksfxd fu;kstu ¼LFkk;h vkns'k½ vf/kfu;e]

1946 esa LFkk;h vkns'kksa ds çk:i dk fuosnu
fdrus çfr;ksa eas djsxk \
(A) nl çfr;k¡
(B) ik¡p çfr;k¡
(C) rhu çfr;k¡
(D) N% çfr;k¡

[P.T.O]
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37. What is the  other name known of Essential

Services Maintenance Act 1981 ?

(A) ESMA

(B) OSORA

(C) ASANA

(D) None of these

38. Who has the power to make rule under

Industrial Employment (Standing Order)

Act ?

(A) Certifying officer

(B) Appropriate Government

(C) Labour Court

(D) Trade Union

39. What is the qualification for the appointment

of presiding officer under Industrial Disputes

Act, 1947 ?

(A) He is or has been, a Judge of a

High Court

(B) He has, for a period of not less than

three years, been a District Judge

(C) Both (A) and (B)

(D) Any of the above (A) and (B)

40. Who can constitute the national Tribunal in

Industrial Disputes Act ?

(A) Only State Government

(B) Only Central Government

(C) Both (A) and (B)

(D) None of the above

41. In the Industrial Disputes Act, only such

disputes shall be referred to the court

which :

(A) is in existence

(B) is likely to arise

(C) Both (A) and (B)

(D) None of the above

37. vko';d lsok j[kj[kko vf/kfu;e] 1981

fdl vU; uke ls tkuk tkrk gS \

(A) ,Lek

(B) vklksjk

(C) vkluk

(D) buesa ls dkssbZ ugha

38. vkS|ksfxd fu;kstu ¼LFkk;h vkns'k½ vf/kfu;e
esa fu;e cukus dh 'kfDr fdldks gS %

(A) çek.kdrkZ vf/kdkjh

(B) leqfpr ljdkj

(C) Je U;k;ky;

(D) O;olk; la?k
39. vkS|ks fxd fookn vf/kfu;e] 1947 es a

vf/kdj.k ds ihBklhu vf/kdkjh dks fu;qDr
gksus ds fy, vgZrk gS %
(A) mPp U;k;ky; dk U;k;k/kh'k gS vFkok

jgk gS
(B) rhu o"kZ ls vU;= vof/k rd ftyk

tt jgk gS
(C) nksuksa (A) vkSj (B)

(D) mijksDr (A) ;k (B) esa ls dksbZ
40. vkS|ksfxd fookn vf/kfu;e] 1947 esa jk"Vªh;

vf/kdj.k dk xBu dkSu dj ldrk gS \
(A) dsoy jkT; ljdkj
(B) dsoy dsUæh; ljdkj
(C) nksuksa (A) vkSj (B)

(D) mijksDr esas ls dksbZ ugha
41. vkS|ksfxd fookn vf/kfu;e] esa U;k;ky;ksa dks

dsoy ,sls fooknksa dk lanHkZ fd;k tk;xk tks %

(A) vfLrRo esa gS

(B) ftls mRiUu gksus dh vk'kadk gS

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha
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42. A workman shall be deemed to have

continuous service of up to one year, if :
(A) must have been in working for 12

calendar months

(B) must have been in working for 10
calendar months

(C) must have worked for 200 days

(D) must have worked for 190 days

43. Due to which reason continuous service

should not be considered as interrupted ?

(A) Sickness

(B) Accident

(C) Legal strike

(D) All of the above

44. For the continuous service of six months,

how many days of working is necessary for

the service other than the worker working in

the mine ?

(A) 110 Days

(B) 120 Days

(C) 220 Days

(D) 150 Days

45. Excel Beer Vs U.O.I, A.I.R 1979 SC, Case

related to :

(A) Section-25 ‘K'

(B) Section-25 ‘J’

(C) Section-26

(D) Section-25 ‘O’

46. In the case of Orissa Textile and steel Ltd

Vs. State of Orissa, the constitutionality of

which section was considered ?

(A) Section-25 ‘A’

(B) Section-25 ‘B’

(C) Section-25 ‘C’

(D) Section-25 ‘O’

42. fdlh deZdkj dk ,d o"kZ rd dh fujUrj
lsok ekuk tk,xk ;fn %
(A) 12 dSys.Mj ekl rd fu;kstu eas

jgk gS
(B) 10 dSys.Mj ekl rd fu;kstu eas

jgk gS]

(C) 200 fnuksa rd fu;ksftr jgk gS

(D) 190 fnuksa rd fu;ksftr jgk gS

43. fujUrj lsok fdl dkj.k [kf.Mr ugha ekuk
tk,xk \
(A) chekjh
(B) nq?kZVuk
(C) oS/k gM+rky
(D) mijksDr esa ls lHkh

44. 6 ekl dh fujUrj lsok gsrq [kku esa dk;Zjr
deZdkj ds vfrfjDr vU; lsok gsrq fdrus
fnuksa dk fu;kstu vko';d gS \

(A) 110 fnu

(B) 120 fnu

(C) 220 fnu

(D) 150 fnu
45. ,Dlsy fc;j cuke Hkkjr la?k] ,-vkbZ-vkj-

1979, mPpre U;k;ky; lEcfU/kr gS %
(A) /kkjk 25 ‘K'

(B) /kkjk 25 ‘J’

(C) /kkjk 26

(D) /kkjk 25&‘O’

46. mM+hlk VsDlVkbYl ,oa LVhy fy- cuke mM+hlk
jkT; ekeys eas fdl /kkjk dh laoS/kkfudrk ij
fopkj fd;k x;k Fkk \
(A) /kkjk& 25 ‘A’

(B) /kkjk& 25 ‘B’

(C) /kkjk& 25 ‘C’

(D) /kkjk& 25 ‘O’

[P.T.O]
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47. A worker employed in a public utility service

will give notice of how many days before
going on strike ?
(A) 4 weeks
(B) 6 weeks

(C) 3 weeks

(D) 45 Days

48. A worker employed in a public utility service

cannot go on strike within how many days

of giving the information ?

(A) 15 days

(B) 30 days

(C) 14 days

(D) 45 days

49. The employer operating the public utility

service will not do Lock-out :

(A) Without six weeks prior notice

(B) Without four weeks prior notice

(C) Without three weeks prior notice

(D) Without two months prior notice

50. Strike is not a fundamental right of workman,

In which case the supreme court said it ?

(A) Sharad Kumar case

(B) Bharat Bhavan Trust case

(C) Raj Kumar Case

(D) Kameshwar Vs. Bihar State

51. In which section there is a provision of

Illegal Strike ?

(A) Section-22

(B) Section-25

(C) Section-24

(D) Section-23

47. yksd mi;ksxh lsok eas fu;ksftr deZdkj gM+rky

djus ds fdrus fnuksa iwoZ lwpuk nsxk \

(A) 4 lIrkg

(B) 6 lIrkg

(C) 3 lIrkg

(D) 45 fnu

48. yksd mi;ksxh lsok eas fu;ksftr deZdkj lwpuk

nsus ds fdrus fnuksa ds vanj gM+rky ij ugha

tk ldrk \

(A) 15 fnu

(B) 30 fnu

(C) 14 fnu

(D) 45 fnu

49. yksd mi;ksxh lsok lapkfyr dj jgk fu;kstd

dkj[kkuk canh ugha djsxk %

(A) N% lIrkg iwoZ lwpuk fn;s fcuk

(B) pkj lIrkg iwoZ lwpuk fn;s fcuk

(C) rhu lIrkg iwoZ lwpuk fn;s fcuk

(D) nks ekg iwoZ lwpuk fn;s fcuk

50. deZdkjksa dks gM++rky djus dk ekSfyd

vf/kdkj ugha çkIr gS] mPpre U;k;ky; us

fdl okn esa dgk gS \

(A) 'kjn dqekj okn

(B) Hkkjr Hkou VªLV okn

(C) jktdqekj dk okn

(D) dkes'oj cuke fcgkj jkT;

51. voS/k gM+rky dk çko/kku fdl /kkjk esa gS \

(A) /kkjk&22

(B) /kkjk&25

(C) /kkjk&24

(D) /kkjk&23
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52. What is included in the definition of Trade

Union ?

(A) Any combination whether temporary

(B) Any combination whether permanent

(C) Both (A) and (B)

(D) None of the above

53. In which section of the Trade Union Act 1926

the application for registration is made ?

(A) Section-11

(B) Section-6

(C) Section-8

(D) Section-5

54. What is the advantage of a registered trade

union ?

(A) It becomes a body of corporate

(B) It will receive a continuing

successor

(C) It can hold property

(D) All of the above

55. At what age can a trade union be joinned as

a member ?

(A) 15 years

(B) 18 years

(C) 21 years

(D) 12 years

56. Trade Dispute takes place between :

(A) Employer and worker

(B) Worker and government

(C) Employer and public

(D) All of the above

52. ^O;olk; la?k* dh ifjHkk"kk esa vkrk gS %

(A) dksbZ leqPp; pkgs vLFkk;h gks

(B) dksbZ leqPp; pkgs LFkk;h gks

(C) nksuksa (A) ,oa (B)

(D) mijksDr esa ls dksbZ ugha

53. O;olk; la?k vf/kfu;e] 1926 dhs fdl
/kkjk esa jftLVªhdj.k ds fy, vkosnu fd;k
tkrk gS %
(A) /kkjk&11

(B) /kkjk&6

(C) /kkjk&8

(D) /kkjk&5

54. jftLVªhÑr O;olk; la?k dk D;k ykHk gS \

(A) ;g ,d fuxfer fudk; cu tkrk gS

(B) ;g ,d fujUrfjr mÙkjkf/kdkj çkIr

dj ysxk

(C) ;g lEifÙk /kkj.k dj ldsxk

(D) mijksDr lHkh

55. fdrus o"kZ ds mez okys O;olk; la?k dh

lnL;rk çkIr dj ldrs gS \

(A) 15 o"kZ

(B) 18 o"kZ

(C) 21 o"kZ

(D) 12 o"kZ

56. ^O;olk; fookn* buesa ls fdlds chp gksrk
gS \
(A) fu;kstdksa vkSj deZdkjksa ds chp
(B) deZdkjksa ,oa ljdkj ds chp
(C) fu;kstdksa ,oa turk ds chp

(D) mijksDr esa ls lHkh
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57. ---------- constitutes the Tribunal.

(A) Only State Government

(B) Only Central Government

(C) Appropriate Government

(D) President

58. Who can become the presiding officer of

the labour court ?

(A) Has completed 70 years of age

(B) Has completed 65 years of age

(C) Has not completed 65 years of age

(D) All of the above

59. Which Article of the Indian Constitution

provides for workers subsistence wages ?

(A) Article-39

(B) Article-40

(C) Article-43

(D) Article-21

60. Which Article of the Indian Constitution

provides for the participation of workers in

the management of Industry ?

(A) Article-39 A

(B) Article-43 A

(C) Article-47 A

(D) Article- 48 A

61. Which of the following powers does the

labour Court has ?

(A) Examination of witness

(B) Examination of document

(C) Issue of summon

(D) All of above

57. vf/kdj.k dk xBu djrk gS %

(A) dsoy jkT; ljdkj

(B) dsoy dsUæ ljdkj

(C) leqfpr ljdkj

(D) jk"Vªifr

58. Je U;k;ky; dk ihBklhu vf/kdkjh cu

ldrk gS] tks %

(A) 70 o"kZ dh vk;q iw.kZ dj pqdk gS

(B) 65 o"kZ dh vk;q iw.kZ dj pqdk gS

(C) 65 o"kZ dh vk;q iw.kZ ugh fd;k gS

(D) mijksDr esa ls lHkh

59. Hkkjrh; lafo/kku ds fdl vuqPNsn esa deZdkjksa

ds fy, fuokZg etnwjh micaf/kr gS \

(A) vuqPNsn&39

(B) vuqPNsn&40

(C) vuqPNsn&43

(D) vuqPNsn&21

60. Hkkjrh; lafo/kku ds fdl vuqPNsn }kjk m|ksxksa

ds çca/k esa deZdkjksa ds Hkkx ysus dk mica/k

fd;k x;k gSA

(A) vuqPNsn&39  A

(B) vuqPNsn&43 A

(C) vuqPNsn&47 A

(D) vuqPNsn&48 A

61. Je U;k;ky; dks fuEufyf[kr esa ls dkSu&lh

'kfDr çkIr gS \

(A) xokgksa dk ijh{k.k

(B) vfHkys[kksa dk ijh{k.k

(C) leu tkjh djuk

(D) mijksDr esa ls lHkh
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62. When did Industrial Jurisprudence develop

in India ?

(A) 17th Century

(B) 16th Century

(C) 20th Century

(D) 15th Century

63. On what principle is labour law based ?

(A) Laissez Faire policy

(B) Public Welfare policy

(C) Both (A) and (B)

(D) None of these

64. Who was not involved in the ‘Tripartite

Labour Policy’ ?

(A) Trade Union

(B) Employer

(C) Government

(D) Agriculturist

65. When did the Tripartite Labour Policy come

into focus ?

(A) 1970-80

(B) 1950-60

(C) 1980-90

(D) 1990-2000

66. Labour Legislation depends on :

(A) Social Justice

(B) Social Equity

(C) National Economy

(D) All of the above

62. Hkkjr esa vkS|ksfxd fof/k'kkL= dk fodkl dc

gqvk \

(A) 17oha 'krkCnh

(B) 16oha 'krkCnh

(C) 20oha 'krkCnh

(D) 15oha 'krkCnh

63. Je dkuwu fdl fl)kUr ij vk/kkfjr gS \

(A) vgLr{ksi uhfr

(B) yksd dY;k.kdkjh uhfr

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

64. f=i{kh; Je uhfr esa dkSu 'kkfey ugha Fkk \

(A) O;olk; la?k

(B) fu;kstd

(C) ljdkj

(D) Ñ"kd

65. f=i{kh; Je uhfr dc dsUæ&fcUnq esa vkbZ \

(A) 1970-80

(B) 1950-60

(C) 1980-90

(D) 1990-2000

66. Je fo/kku vk/kkfjr gksrk gS %

(A) lkekftd U;k; ij

(B) lkekftd lkE;rk ij

(C) jk"Vªh; vFkZO;oLFkk ij

(D) mijksDr esa ls lHkh
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67. North Broke Jute Company Ltd. Case is

related to :

(A) Works Committee

(B) Definition of Workman

(C) Trade Union

(D) None of these

68. Who appoints the Conciliation officer ?

(A) Local Authority

(B) Employer

(C) Appropriate government

(D) Director

69. Board of Conciliation is provided under-----

of Industrial Disputes Act .

(A) Section-4

(B) Section-5

(C) Section-6

(D) Section-3

70. The Court of Inquiry shall submit the report

within how many days of the commencement

of the inquiry ?

(A) Six months

(B) Three months

(C) Two months

(D) One month

71. Which authority is not provided in the

Industrial Disputes Act ?

(A) Works Committee

(B) Labour Court

(C) Conciliation Board

(D) Sub-divisional officer

67. ukFkZczd twV dEiuh fy- dk okn lEcfU/kr

gS %

(A) deZ lfefr ls

(B) deZdkj dh ifjHkk"kk ls

(C) O;olk; la?k ls

(D) mijksDr esa ls dksbZ ugha

68. le>kSrk inkf/kdkjh dh fu;qfDr dkSu djrk

gS \

(A) LFkkuh; çkf/kdkjh

(B) fu;kstd

(C) leqfpr ljdkj

(D) funs'kd

69. vkS|ksfxd fookn vf/kfu;e esa ̂ le>kSrk cksMZ*

çko/kkfur gS %

(A) /kkjk&4 esa

(B) /kkjk&5 esa

(C) /kkjk&6 esa

(D) /kkjk&3 esa

70. tk¡p U;k;ky; tk¡p 'kq: gksus ds fdrus fnuksa

ds Hkhrj çfrosnu çLrqr dj nsxk \

(A) N% ekl

(B) rhu ekl

(C) nks ekl

(D) ,d ekl

71. vkS|ksfxd fookn vf/kfu;e eas fdl çkf/kdj.k

dk mica/k ugha gS \

(A) deZ lfefr

(B) Je U;k;ky;

(C) le>kSrk cksMZ

(D) vuqfoHkkxh; vf/kdkjh
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72. Which can make regulation to comply the

provisions of Trade Union Act, 1926 ?

(A) High Court

(B) Supreme Court

(C) Trade Union officer

(D) Appropriate government

73. The cognizance of offences is taken in Trade

Union Act by :

(A) Session Court

(B) Labour Court

(C) First Class Judicial Magistrate

(D) Second Class Judicial Magistrate

74. Provision of Punishment for giving false

information about trade unions is given in :

(A) Section-32

(B) Section-33

(C) Section-31

(D) Section-29

75. Provision as to benefit of registered trade

union is given in :

(A) Section-26

(B) Section-13

(C) Section-12

(D) Section-18

72. O;olk; la?k vf/kfu;e] 1926 ds mica/kksa dk

ikyu djus ds fy, fofu;e cuk ldrk gS %

(A) mPp U;k;ky;

(B) mPpre U;k;ky;

(C) O;olk; la?k inkf/kdkjh

(D) leqfpr ljdkj

73. O;olk; la?k vf/kfu;e esa vijk/kksa dk laKku

fy;k tkrk gS %

(A) ls'ku U;k;ky; }kjk

(B) Je U;k;ky; }kjk

(C) çFke Js.kh U;kf;d eftLVªsV }kjk

(D) f}rh; Js.kh U;kf;d eftLVªsV }kjk

74. O;olk; la?kksa ds ckjs esa feF;k lwpuk nsus gsrq

n.M dk çko/kku gS %

(A) /kkjk&32 esa

(B) /kkjk&33 esa

(C) /kkjk&31 esa

(D) /kkjk&29 esa

75. jftLVªhÑr O;olk; la?k dk ykHk ds ckjs eas

mica/k gS %

(A) /kkjk&26 esa

(B) /kkjk&13 esa

(C) /kkjk&12 esa

(D) /kkjk&18 esa



1018-D/650 (  18  )

76. ‘Lay-off’ is defined under :.

(A) Section-2(kkk)

(B) Section-2(aaa)

(C) Section-2(cc)

(D) Section-2(l)

77. Triple-Test principle was introduced in which

case ?

(A) Hospital Majadur Sabha Case

(B) A. Rajappa Case

(C) D.N. Banarjee Case

(D) Jay Narayan Singh Case

78. 'Lock-out' is defined under :

(A) Section-3 (l)

(B) Section-2 (k)

(C) Section-2 (l)

(D) Section-2 (c)

79. ---------- is included in Public Utility

Services .

(A) Railway Services

(B) Transport Services

(C) Telephone Services

(D) All of the above

80. Retrenchment includes :

(A) Termination of service of workman

by employer

(B) Service must be terminated  for

some reason

(C) Termination of service should be

punishable as disciplinary

(D) Termination of service should not

be punishable as disciplinary

76. ^tcjh NqV~Vh* ifjHkkf"kr gS %

(A) /kkjk&2(kkk) esa

(B) /kkjk&2(aaa) esa

(C) /kkjk&2(cc) esa

(D) /kkjk&2(l) esa

77. ^f=&ijh{k.k* fl)kUr fdl okn esa yk;k x;k

Fkk \

(A) gkfLiVy etnwj lHkk okn

(B) ,- jktIik okn

(C) Mh-,u- cuthZ okn

(D) t;ukjk;.k flag okn

78. ^rkykcUnh* ifjHkkf"kr gS %

(A) /kkjk&3 (l) esa

(B) /kkjk&2 (k) esa

(C) /kkjk&2 (l) esa

(D) /kkjk&2 (c) esa

79. yksdksi;ksxh lsokvksa esa lfEefyr gS %

(A) jsyos lsok,a

(B) ifjogu lsok,a

(C) VsyhQksu lsok,a

(D) mijksDr lHkh

80. ^NaVuh* eas lfEefyr gS %

(A) fu;kstd }kjk deZdkj dh lsok lekiu

(B) lsok lekiu fdlh dkj.k ls gksuk

pkfg,

(C) lsok lekiu vuq'kklukRed :i esa

n.M Lo:i gksuk pkfg,

(D) lsok&lekiu vuq'kklukRed :i eas

n.M Lo:i ugha gksuk pkfg,
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81. In which Article of Indian Constitution forced

labour is prohibited ?

(A) Article-20

(B) Article-24

(C) Article-23

(D) Article-32

82. A child below the age of how many years

cannot be employed in a factory ?

(A) 14 years

(B) 16 years

(C) 12 years

(D) 18 years

83. The equal pay for equal work for both men

and women is provided in :

(A) Article-38

(B) Article-39D

(C) Article-39F

(D) None of these

84. Through out the world in twentieth century,

the progress of Industrial society has been

–‘from contract to status.’ Statement is made

by :

(A) Savigny

(B) Sir Henry Maine

(C) Roscoe Pound

(D) None of these

85. When was the Trade Union Act passed in

India ?

(A) 1936

(B) 1928

(C) 1930

(D) 1926

81. Hkkjrh; lafo/kku ds fdl vuqPNsn eas  cykRJe

çfrf"k) gS \

(A) vuqPNsn&20

(B) vuqPNsn&24

(C) vuqPNsn&23

(D) vuqPNsn&32

82. fdrus o"kZ ls de mez ds ckyd dks dkj[kkus

esa fu;ksftr ugha fd;k tk ldrk gS \

(A) 14 o"kZ

(B) 16 o"kZ

(C) 12 o"kZ

(D) 18 o"kZ

83. iq#"kksa vkSj fL=;ksa nksukas dks leku dk;Z ds

fy, leku osru dk çko/kku gS %

(A) vuqPNsn&38 eas

(B) vuqPNsn&39D eas

(C) vuqPNsn&39F eas

(D) buesa ls dksbZ ugha

84. chloha 'krkCnh ds nkSjku lewps fo'o esa vkS|ksfxd

lekt dk vxzlj.k & ^lafonk ls gSfl;r dh

vksj jgk gSA* dFku fn;k x;k gS %

(A) lSfouh }kjk

(B) lj gsujh esu }kjk

(C) jkLdks ikmUM }kjk

(D) buesa ls dksbZ ugha

85. Hkkjr eas O;olk; la?k vf/kfu;e dc ikfjr

gqvk Fkk \

(A) 1936

(B) 1928

(C) 1930

(D) 1926

[P.T.O]
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86.  Under which section of Industrial Disputes

Act 'Strike' is defined ?

(A) Section-2 (r)

(B) Section-2 (q)

(C) Section-2 (t)

(D) Section-3

87. ----------- is not included in wages.

(A) Dearness allowance

(B) All remuneration

(C) Travel Concession

(D) Any Bonus

88. 'Workman' defined which under section of

Industrial Disputes Act ?

(A) Section 2 (s)

(B) Sectio 2 (f)

(C) Sectio 2 (a)

(D) Sectio 4

89.  Workman includes:

(A) Person controlled by the Armed

Forces Act

(B) Person employed in Police service

(C) Person working in an administrative

capacity

(D) An apprentice

90. The main function of the works committee

is :
(A) To take measures for good

relations between employers and
workers

(B) To try to end material difference
between employers and workers

(C) Both (A) and (B)

(D) None of these

86. vkS|ksfxd fookn vf/kfu;e dh fdl /kkjk esa

^gM+rky* ifjHkkf"kr gS \

(A) /kkjk&2 (r)

(B) /kkjk&2 (q)

(C) /kkjk&2 (t)

(D) /kkjk&3

87. etnwjh esa lfEefyr ugha gS %

(A) eg¡xkbZ HkÙkk

(B) lHkh ikfjJfed

(C) ;k=k fj;k;r

(D) dksbZ cksul

88. ^deZdkj* vkS|ksfxd fookn vf/kfu;e dh fdl

/kkjk esa ifjHkkf"kr gS \

(A) /kkjk 2 (s)

(B) /kkjk 2 (f)

(C) /kkjk 2 (a)

(D) /kkjk 4

89. deZdkj esa vkrs gaS %

(A) LFky lsuk vf/kfu;e }kjk fu;af=r

O;fDr

(B) iqfyl lsok esa fu;ksftr O;fDr

(C) ç'kkldh; gSfl;r esa dk;Z dj jgk

O;fDr

(D) ,d çf'k{kq ¼vçsfUVl½

90. ^deZ lfefr* dk eq[; dk;Z gS %

(A) fu;kstdkas vkSj deZdkjksa ds chp vPNs

lEcU/k gsrq mik; djuk

(B) fu;kstdksa vkSj deZdkjksa ds chp lkjoku~

erHksn feVkus dk ç;Ru djuk

(C) nksuksa (A) ,oa (B)

(D) mijksDr esa ls dksbZ ugha
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91. Application for trade union registration

should be sent by the union’s  :

(A) Eight or more members

(B) Five or more members

(C) Seven or more members

(D) Ten or more members

92. What is the minimum age required to

become an office bearer of a trade union ?

(A) 21 years

(B) 18 years

(C) 25 years

(D) 30 years

93. A registered trade union can change the

name with the consent of not less than of

the total number of its members.

(A) One-third

(B) One-fourth

(C) Two-third

(D) Two-fourth

94. Within how many days of the dissolution of

the trade union the notice of dissolution

should be sent to the Registrar ?

(A) 14 Days

(B) 15 Days

(C) 7 Days

(D) 20 Days

95. News Paper Ltd Allahabad Vs. Uttar Pradesh

State Industrial Tribunal is related to :

(A) Representation of a trade dispute

(B) Bonded labour

(C) Workman Compensation

(D) None of these

91. O;olk; la?k jftLVªhdj.k dk vkosnu la?k ds

------- Hkstk tkuk pkfg,A

(A) vkB ;k vf/kd lnL;ksa }kjk

(B) ik¡p ;k vf/kd lnL;ksa }kjk

(C) lkr ;k vf/kd lnL;ksa }kjk

(D) nl ;k vf/kd lnL;ksa }kjk

92. O;olk; la?k dk inkf/kdkjh cuus ds fy,

de ls de fdruh mez dk gksuk pkfg, \

(A) 21 o"kZ

(B) 18 o"kZ

(C) 25 o"kZ

(D) 30 o"kZ

93. jftLVªhÑr O;olk; la?k vius lnL;ksa dh

dqy la[;k ds de&ls&de --------- dh lEefr

ls uke ifjorZu dj ldrk gSA

(A) ,d&frgkbZ

(B) ,d&pkSFkkbZ

(C) nks&frgkbZ

(D) nks&pkSFkkbZ

94. O;olk; la?k fo?kVu dh lwpuk jftLVªkj ds

ikl fo?kVu ds fdrus fnu ds vanj Hkst nsuk

pkfg, \

(A) 14 fnu

(B) 15 fnu

(C) 7 fnu

(D) 20 fnu

95. U;wt isilZ fy- bykgkckn cuke mÙkj çns'k

jkT; vkS|ksfxd vf/kdj.k] lEcfU/kr gS %

(A) O;olk; fooknksa ds çfrfuf/kRo ls

(B) ca/kqvk etnwj ls

(C) deZdkj çfrdkj ls

(D) buesa ls dksbZ ugha

[P.T.O]
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96. Can a unregistered trade union sue in its

own name ?

(A) Yes

(B) No

(C) Don’t know

(D) None of these

97. Since when Industrial Disputes Act, 1947

came into force ?

(A) 1 April, 1948

(B) 1 April, 1950

(C) 1 April, 1947

(D) 1 March, 1947

98. In the matter of life Insurance Corporation of

India under the Industrial Disputes Act, the

appropriate government is :

(A) Life Insurance Corporation of India

(B) All State Governments

(C) Registration officer

(D) Central Government

99. The word ‘Industry’ is defined under :

(A) Section-2 (j)

(B) Section-2 (k)

(C) Section-2 (a)

(D) Section-2 (b)

100. The ‘Triple test’ principle is related to :

(A) Trade Union

(B) Industrial Dispute

(C) Definition of Industry

(D) None of these

96. xSj&jftLVªhÑr la?k vius uke ls okn yk

ldrk gS %

(A) gk¡

(B) ugha

(C) irk ugha

(D) buesa ls dksbZ ugha

97. vkS|ksfxd fookn vf/kfu;e] 1947 dc ls

ykxw gqvk \

(A) 1 vçSy] 1948

(B) 1 vçSy] 1950

(C) 1 vçSy] 1947

(D) 1 ekpZ] 1947

98. vkS|ksfxd fookn vf/kfu;e ds vUrxZr Hkkjrh;

thou chek fuxe ds ekeys esa leqfpr ljdkj

gS %

(A) Hkkjrh; thou chek fuxe

(B) lHkh jkT; ljdkj

(C) iathdj.k vf/kdkjh

(D) dsUæ ljdkj

99. ^m|ksx* 'kCn ifjHkkf"kr gS] vUrxZr %

(A) /kkjk&2 (j)

(B) /kkjk&2 (k)

(C) /kkjk&2 (a)

(D) /kkjk&2 (b)

100. ^f=&ijh{k.k* fl)kUr lEcfU/kr gS %

(A) O;olk; la?k ls

(B) vkS|ksfxd fookn ls

(C) m|ksx dh ifjHkk"kk ls

(D) buesa ls dksbZ ugha
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ROUGH WORK/jQ dk;Z



Example :

Question :

Q.1

Q.2

Q.3

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question
Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
g q, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s ] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ysaA

A C D

A D

A C D

B

A C D

A D

A C D

B


